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SECTION A: BIOLOGY [35]

QUESTION 1: Multiple Choice. Each question carries 2 marks. [20]

1.1 Which two of the following are the features used by microorganisms for Movement? (2)

A. Cilia and Legs
B. Flagella and Legs
C. Cilia and Fins
D. Flagella and Cilia
1.2 Which of the following are kingdoms classified as Prokaryotic? (2)
A. Archaea and Bacteria
B. Archaebacteria and Eubacteria
C. Archaea and Eukarya
D. Eukarya and Bacteria
1.3 Dioecious are . (2)
A. Organisms that cannot reproduce sexually.
B. Plants that have male flowers on one plant and female flowers on another plants.
C. Plants that have male and female reproductive parts on different locations on the same
plant.
D. Plants that produce leaves throughout the year.
1.4 The two types of competitions found in ecology are: (2)
A. Endoparasites and Ectoparasitic competition.
B. Interspecific and Endospecific competition.
C. Intraspecific and interspecific competition.
D. Ectospecific and Endospecific competition.
1.5 Detritivores/Scavengers refers to . (2)
A. Organisms that feed both on plants and animals
B. Organisms that end the food chain or food web
C. Organisms that feed on tissues of dead organisms
D. Organisms that are not required in the ecosystem

1.6 Components of the ecosystems that are essentially indispensable to its smooth functioning

are

o0 ®»

Biotic and Abiotic factors

(2)

Producers and the Sun
Producers and Decomposers
Primary and Secondary consumers
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1.7 Micronutrients are dietary components often referred to as . (2)
A. monosaccharide and disaccharide
B. carbohydrates and proteins
C. vitamins and minerals
D. carbohydrates and lipids

1.8 Vitamins that can be toxic to the body when taken in excessive amount are . (2)
A. Vitamin Band D
B. Vitamin Cand K
C. Vitamin Aand K
D. Vitamin Band C

1.9 One of the main reasons for the increased use of Biotechnology by the food industry is due
to . (2)
The need to change nutritional value of the food product

Attempts to increase efficiency and reduce environmental impact of production
Intentions to create or improve sensory characteristics

All of the statements above are correct

0wy

1.10 Which one of the following does not describe the production of gasohol? (2)
A. ltinvolves the extraction and washing of cane.
B. The dilute alcohol is distilled to yield bagasse only.
C. The sugars are crystalized out to give molasses.
D. The molasses is fermented by microorganism to yield dilute alcohol.
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QUESTION 2 Structured questions [15]

2.1 Discuss how a scientific name is written following the principles of the binomial nomenclature

system. (3)
2.2 Explain why scientific names are more important than common names? (2)
2.3 Briefly explain three factors that cause organisms to become endangered or extinct. (3)
2.4 Differentiate between polyunsaturated and monounsaturated fat in terms of bonds. (2)
2.5 Describe the role of iron in the human body. (2)
2.6 Define fermentation and explain it role in the production of gasohol? (3)
SECTION B: CHEMISTRY [35]
QUESTION 3: [20]

Question Type: Multiple Choice. Choose and write a letter corresponding to the correct answer.
Each correct answer carries 2 marks.

3.1 A process which involves the input of energy or absorption of heat is called: (2)
A. exothermic
B. dissolving
C. endothermic
D. thermodynamic

3.2 An appropriate physical method that can be used to separate an insoluble solid from a
liquid is . (2)
A. chromatography
B. separating funnel
C. fractional distillation
D. filtration
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3.3 How does the presence of a soluble salt affect the freezing point and boiling point of water?
(2)
A. raises the freezing point and lowers the boiling point
B. lowers the freezing point and lowers the boiling point
C. lowers the freezing point and raises the boiling point
D. raises the freezing point and raises the boiling point

3.4 Which of the following measurements has the greatest number of significant figures?  (2)
A. 0.2400 mL
B. 0.00240 mL
C. 24000 mL
D. 2.40 x 10° mL

3.5 A cyclist travels a distance of 0.5 Km in a time of 0.5 hours. The speed of the cyclist in S|
units is equal to . (2)
A.0.28 m/s
B. 0.3 m/s?
C.1Km/h
D. None of the above

3.6 The reproducibility of a series of measurements can be defined as the: (2)
A. accuracy of the measurements
B. precision of the measurements
C. uncertainty related to the measurements
D. none of the above

3.7 In terms of bonding, elements found in Group 5 of the Periodic Table tend to . (2)
A. Lose five electrons
B. Lose three electrons
C. Gain three electrons
D. Gain five electrons

3.8 The mixture of two or more metals is known as . (2)
A. Ore
B. Alloy
C. Metalloid
D. Mineral

3.9 A common use of nitric acid is the; (2)
A. manufacture of non-soapy detergents
B. treatment of water
C. electrolyte in car-lead batteries
D. manufacture of fertilizers and explosives
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3.10 The chemical name for washing soda is: (2)
A. Sodium hydrogen carbonate
B. Sodium carbonate decahydrate
C. Sodium hydroxide
D. Sodium chloride

QUESTION 4 [15]
Question Types: Brief statement responses.
4.1 Define the following terms: (5)

a. Homogenous mixture

b. Quantitative measurement
c. Accuracy

d. Anindicator

e. Chemical property

4.2 In terms of kinetic theory, discuss how the change in temperature influences the behaviour

of atoms during the condensation phase change i.e. changes from gaseous state to liquid state.

(3)

4.3 How many significant figures does each of the following measurements have? (4)
a. 2.0020 mm
b. 0.000740g
c. 88000 Kg

d. 2020 000.0 km

4.4 List two uses for calcium oxychloride. (2)

4.5 In agriculture, it is important to monitor the pH of the soil to ensure the growth of crops.

State how you would treat soil that is too acidic. (1)
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SECTION C: PHYSICS

QUESTION 5

Question Type: Multiple Choice Question. Each question carries 2 marks.

5.1 Which of the following is a type of graph?
A. Curve graph
B. Pie Chart
C. Pyramid
D. Polygon

5.2 Which of the following instruments is used to measure an electric voltage?
A. Voltmeter
B. Galvanometer
C. Ammeter
D. Potentiometer

5.3 The electrical symbol in figure 5.1 below represents a

Figure 5.1
A. Rheostat
B. Lamp
C. Galvanometer
D. Millimeter

5.5 Which of the following units given below is the SI unit of power?
A. Ampere

B. Volt

C. Ohm

D. Watt
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5.6 What is the formula for calculating acceleration? (2)

A. Acceleration = mass/velocity
Acceleration = force/mass
Acceleration = mass/force
Acceleration = mass/distance

ocnow

5.7 A car of mass 1000 kg can produced a force of 8000 N by the engine. Calculate the

acceleration of the car. (2)
A. 8m/s?
B. 800 m/s?
C. 10000 m/s?
D. 100000 m/s?

5.8 In geothermal energy, produced from underground rocks is used to drive turbines,
which drive electric generators to produce electricity. (2)

A. water
B. steam
C. dust
D. fire

5.9 Which of the following is an example of non-renewable energy? (2)

A. Wind energy

B. Geothermal
C. Nuclear energy
D. Biofuels
5.10 Energy possessed by a body by virtue of its motion is called . (2)

A. Physical energy

B. Potential energy

C. Kinetic energy

D. geothermal energy
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QUESTION 6

Question Type: Structured questions

6.1 What is the full meaning of the acronym T.A.L.L.S used in line graphs?

6.2 State two advantages and two disadvantages of using Biofuel energy source?

6.3 State Newton’s second law of motion.

6.4 You carry a 20 kg suitcase upstairs for a distance of 4 m, how much work did you do?

Taking acceleration due to gravity g = 10 m/s?.
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